(7¢0
Guid
C dm?;?/ /ZC%( i

&L 7 N
lg A0 2. 4Db ; m App = 24C°
1) 06,64, 31 , P
e ?) B D arclentiof Xey = GTrm
ud o s.q?) CD &D
i fz)mof; £ BoD Y A= Brme  AXTH2n
Jg £LpDC S (exact)
)BC, B, Ad AC
)@A,éécﬁéc)c AD S a) A= (162 17— (443 )2
F)%,’E bYA= (BT~ i6/3)en
l c)A=(2ST-50) f1*
ta) 28°
b) 28" T P=52m E Pz=uycm 9 P=4Om
\F) 28°
g; (8F 0 x=)Z 1] X=1Z (need Hicovem v " yoerk ©)
€)114°
!jc AL 12. X= 2J3% 13. y=100 IY. x=tte 15, =125
2)246° . x=37 y =€
h)552° 2= }Cf
(%. X= o34 /7. x=G 16 x=Ju 17 x%(y-1)=¢
20, (x+3% (y-2)*: 100 20 (x-1)*y (y+1)"= 4

2

|




